Seventh lecture
	3
	Usually there are……..reason for the situation.
1-only one
2-exactly two
3-more than one

	1
	When there are many reasons , usually……..important.
1-there is one that most
2-all of the reasons are
3-all the reasons are not 

	3
	Both because and as can be used …………….
1-only at the end of the sentence
2-at the middle of the sentence or at the end
3-at the beginning of the sentence or in the middle 

	1
	In……….organization , you discuss all of the causes in one block
1-block
2-chain 

	2
	((the first reason is , the next cause , because))called;
1-effect structure word
2-cause structure word
3-effect and structure word

	1
	((the first effect , as a result , consequently)) called;'
1-effect structure word
2-cause structure word
3-effect and structure word

	3
	We use the transition paragraph;
1-to begin the block organization
2-to begin the chain organization
3-to conclude one section and introduce another section

	2
	a……….organization , you discuss a first cause and then the effect, a second cause and it's effect, a third cause and it's effect, and so on.
1-block
2-chain



